

File No. 64/1/NCST/2022-Admn. Government of India National Commission for Scheduled Tribes

6th Floor, B Wing, Lok Nayak Bhawan, Khan Market, New Delhi-110003 Dated: 02.01.2025

Auction Notice

National Commission for Scheduled Tribes, 6th Floor, B-Wing, Lok Nayak Bhawan, Khan Market, New Delhi-110003 intends to dispose of unserviceable/obsolete stores- 48 items (as per List attached) lying in Lok Nayak Bhawan, Khan Market, New Delhi-110003.

- 2. The bidders/auctioneers are invited to inspect the unserviceable/ obsolete store items on 10.01.2025 between 1100 hrs to 1630 hrs at NCST, 6th Floor, Lok Nayak Bhawan, New Delhi. The auction will take place on 13.01.2025 at 3.00 P.M. at conference room, National Commission for Scheduled Tribes, 6th Floor, B-Wing, Lok Nayak Bhawan, New Delhi-110003.
- 3. Earnest money (not less than 30% of highest auction value) would immediately be taken on the spot from the successful bidder, either in cash/ DD/Banker's Cheque in favour of DDO, NCST.
- 4. The highest bidder may submit the balance amount in the form of DD made in favour of DDO, NCST payable at New Delhi, at the time of handling over the unserviceable/ obsolete stores. The highest bidder has to ensure that all the items as per auction list must be removed from this Commission within seven days.

(R. K. Dubey)
Deputy Director (Coord.)
Tel. 011-28819839
email----ddo@ncst.nic.in

Enclosure--- List attached

Condemnation Committee proceedings of Unserviceable îtems and fixation of Reserve price held on 16.12:2024. General financial Jules, 2017 Ministry of finance, Department of Expenditure form GFR 10 (see Rule 217(111))

S. no.	Item Details	particula rs of stores	Quantity	Book Value/Or iginal Purchas e Price as expected	Total Price of items (Year of Purchas	Repairable/ unrepairabl e	Mode of disposal (Sale, public auction or otherwis e)	No. of Years	deprecia tion(as per 5.5% of original price)	Reserve Price	Remarks
	1 Long Table		1	10000	1000	2021	Beyond Economic Repair	Public Auction	3		5500	
	Table Wooden 2 Cardboard		1	5000	5000	2019	Beyond Economic Repair	Public Auction	5		1000	B1
	Table Wooden 3 Cardboard		1	5000	5000	2019	Beyond Economic Repair	Public Auction	5		1500	B2
	4 Iron Table Big		1	6000	6000	2014	Beyond Economic Repair	Public Auction	10		3000	L1
	5 Iron Table Big		1	6000	6000	2014	Beyond Economic Repair	Public Auction	10		2500	L2
	Table computer Iron 6 White		2	2 8000	16000	2014	Beyond Economic Repair	Public Auction	10		4000	C1-C2
Ħ	Table computer Iron 7 White			6000	6000	2016	Beyond Economic Repair	Public Auction	8	3	2500	C3
	Table computer Iron 8 Brown			5000	15000	2016	Beyond Economic Repair	Public Auction		3	2200	E1-E6

Table								4		
computer l 9 Brown	ron	3	5000	15000	2014	Beyond Economic Repair	Public Auction	10	2200	
Chair with		3	4500	13500	2015	Beyond Economic Repair	Public Auction	9	1200	
Chair with	000223	1	4000	4000	2021	Beyond Economic Repair	Public Auction	3	1200	
Chair with		1	3000	3000	2017	Beyond Economic Repair	Public Auction	7	400	
Vice Chairperso Name Plate 13 Damaged		2	500	1000	2005	Beyond Economic Repair	Public Auction	19	50	
Trolley 14 Damaged		1	3000	3000	2022	Beyond Economic Repair	Public Auction	2	1000	
Trolley 15 Damaged	1 1	1	2000	2000	2009	Beyond Economic Repair	Public Auction	15	300	
Table 16 Dismantle		2	4000	8000	2019	Beyond Economic Repair	Public Auction	5	1000	
17 Led Light		5	2000	10000	2019	Beyond Economic Repair	Public Auction	5	500	

19	Tata Sky	1	500	500		Beyond Economic Repair	Public Auction	6	100	
	Book Rack Iron and cover	1	6000	6000	-	Beyond Economic Repair	Public Auction	15	1000	
21	Air Purifier	2	10000	20000		Beyond Economic Repair	Public Auction	10	400	
22	AC Split	4	50000	200000		Beyond Economic Repair	Public Auction	8	20000	
23	AC Split	4	45000	185000	2012	Beyond Economic Repair	Public Auction	12	20000	
	Water Dispenser	1	4000	4000	2016	Beyond Economic Repair	Public Auction	8	800	
25	Fan Wall	2	2000	4000	2017	Beyond Economic Repair	Public Auction	7	500	
26	Fire Cylinder	4	8000	12000	2014	Beyond Economic Repair	Public Auction	10	2000	
27	Fire Cylinder	3	8000	24000	2017	Beyond Economic Repair	Public Auction	7	1500	
	Printer	1	8000	8000	2016	Beyond Economic Repair	Public Auction	8	2500	1
29	Printer	2	7000	14000	2016	Beyond Economic Repair	Public Auction	8	2000	

30	Printer	2	7500	15000	2016	Beyond Economic Repair	Public Auction	8	1500	
31	Page Cutter	1	4000	4000	2009	Beyond Economic Repair	Public Auction	15	500	
32	CPU intel core 2 Duo	1	10000	10000	2009	Beyond Economic Repair	Public Auction	15	500	
33	Moniter	3	8000	24000	2016	Beyond Economic Repair	Public Auction	8	1500	
34	Keyboard	10	400	4000	2014	Beyond Economic Repair	Public Auction	10	500	
35	СРИ	5	15000	15000	1016	Beyond Economic Repair	Public Auction	8	20000	In NIC
36	Battery Set	2	8000	16000	2009	Beyond Economic Repair	Public Auction	15	1200	In NIC
37	Almirah	1	8000	8000	2012	Beyond Economic Repair	Public Auction	12	750)
38	Telephone	3	1500	4500	2014	Beyond Economic Repair	Public Auction	15	600	
39	Telephone	3	1300	3900	2014	Beyond Economic Repair	Public Auction	15	450)
40	Telephone	3	1100	3300	2019	Beyond Economic Repair	Public Auction	5	1050	

41	Intercom	7	900	6300	2014	Beyond Economic Repair	Public Auction	10	300	N TO
	1 comp. table+ 1 Rack + 1 table (very		4000	10000		Beyond Economic	Public			
	very old) Biometric Machine	5	9000	12000 45000		Repair Beyond Economic Repair	Auction Public Auction	25	4000	1180 87
44	Side Table	2	7000	14000		Beyond Economic Repair	Public Auction	10	3000	
	Iron Table wooden	1	12000	12000	2021	Beyond Economic Repair	Public Auction	3	1500	
	Iron Table wooden	1	9000	9000	2019	Beyond Economic Repair	Public Auction	5	1200	
	Iron Table wooden	1	2500	2500	2004	Beyond Economic Repair	Public Auction	20	100	
48	Mouse	3	200	600	2015	Beyond Economic Repair	Public Auction		50	
								Total	121450	-

	Recommendation of the Committee:-
1	The 48 items have been checked and found unserviceable due to constant use and fair, wear and tear, by the Member of Committee
2	The above items have been declared beyond economical repair.
3	These items have rendered their prescribed life
4	residual value after depreciation of unserviceable is Rs 121450. The reserve price of 48 unserviceable has been evaluated as 121450 (calculated as per par 10.5.2-(v) of chapter -10) of manual for procurement of goodds2017 issued by MoF
5	GFR 10 has been taken in to account while preparing the recommendation of the committee
6	If, items may not be sold in Public Auction may later be sold, as scrap.
7	Calculation have been done keeping in mind Manual for procurement of Goods 2017 issued by DoE Is mentioned in para10.5.2
8	*The stock register/Entry of above items were found not traceable as reported by Admn.

(R.K Dubey)

Deputy Director (Coord.)

Chairman

(Ram Janam Choudhary)

Assistant Director(OL)

Member

(H.R Meena)

Research Officer Member